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(1) N.B.:-Question no 1 is compulsory,

(2) Attempt any THREE questions out of remaining FIVE questions.

Q.1)a) If Ais an eigen value of matrix A the

n prove that A™ i an eigen value (5)
of A" and hence find the

eigen values for AZ 424 + 51,where

2 1 =2
A=|0 2 4
0 0 3

b)  The probabili

machine gave an aye
fulfilling the purpose?

d)  Write the dual of the given LPP (5)
Minimize 7 = 2X1 + 3%, + 4x,
Subject to: 2x, + 3X5 +.5 %N N 8x,
X1 +4X, + 6x; <5,
X1, X3 = 0andx, isuntestricted

4+ X9 + 7}{-3 —

’

: TG 4 4
is,whereA=| —8 =~ 3 4 ]
1-16 8 7

Verify Green’s theorem for F = (x2 — y)i + (2y? + x)j where C is (6)
the boundary of region bounded byy=x%y=4. .
~¢) - The heights of six randomly chosen sailors are
gl :63,65,68,69,71 and 72 The heights of ten ran
are: 61,62,65,66,69,69,70,71,72 and 73.
. Disouss in the light that these data throw on the suggestion that the
soldiers on an average taller than sailors.

In inches (8)
domly chosen soldiers

g = Q‘3a) - Use Big-M method to solve
C o Mnimiger = 10%, +3x,
 Subjeet toix, + 2x, >3 , x, + 4x, > 4

A\ AS ©)
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Q.P. Code: 38582

- ([ 77 o s, whete 8 is the (6)
b) Using Gaugg Divergence Theorem, evaluateﬂf’ * nds, W

-* Lyyt =4.2=0.z <6and
Surface of (he tegion bounded by cylinder x? + y'=4,2=0,z=62

F=2xi 4 X 4 zk | N
Find the rup nd class of the following Quadratic (8)
Form by reducing it (o it ng Congrient
Tansf i 2+1222~8xy+16ﬂ—20m .

C)

_ bution witf,
find approx

ly the Number o
YOar, (il) mope than 3 accidents jp 4 year.
Verity Cayley Hami|q
2

1 on Theorem and hepce find (6)
A~ i A= -1 3 —-1]

000 taxi drivers,

Fdrivers, with () no accident in a

b)

M tWo norma| (8)
© as follows-

S —6 —¢ (6)
2. lis derogatory and hence fing
3 —6 —4

b) F =252

)i +(x%z?
i-rrgt_atignal Find

g such that 7 <
moving an object in this field
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the tnangle with vertices (2,0,0),(0,3,0),(0,0,6) or1ented In the anti-

clockwise direction. S R -
b)  Ten individuals are chosen at random ﬁ"gm a population afi d‘ﬂ:ieir e

heights are found to be (inches): 63, 63,66,67,68, 69,70, 71'and 71,

In the light of the data, discuss the suggestlon that the mean he1ght
in the population is 66 mnches.

¢) Using dual simplex method solve the given LPP (8)
Minimize z = 2x; + X,
SUbjeCt to: 3}{1 +XZ 23,4X1+ BXZ > 6, X4 +2X2 <3

s ok %k % ok 3K ok %k ok 3k ok sk ok e ok K ok

Q.6 a) Bvaluatej(x+2y)dx+(x z)dy + (y —z)dz where C 1s the boundary of (6)




